ELEMENTARY PROOFS OF OPERATOR MONOTONICITY OF SOME FUNCTIONS II

SAICHI IZUMINO AND NOBORU NAKAMURA

October 11, 2014

ABSTRACT. In the previous paper we gave elementary proofs of operator monotonicity of the representing function of the weighted arithmetic mean and some other related functions. In this note, we show some extensions and applications of those results.

1 Introduction. A (bounded linear) operator A acting on a Hilbert space H is said to be positive, denoted by $A \ge 0$, if $(Av, v) \ge 0$ for all $v \in H$. The definition of positivity induces the order $A \ge B$ for self-adjoint operators A and B on H. A real-valued function f on $(0, \infty)$ is operator monotone, if $0 \le f(A) \le f(B)$ for operators A and B on H such that $0 \le A \le B$. Thus, throughout this paper, we assume that operator monotone functions are positive and their domains are $(0, \infty)$. As a typical example, $x \mapsto x^p$ $(0 \le p \le 1)$ is an operator monotone function, which is well-known as Löwner-Heinz theorem (LH).

For convenience sake, we state the main facts shown in our previous paper with elementary proofs:

Proposition 1.1 (cf. [11, Theorem 1.2], [1], [2], [3], [4], [5], [8], [9], [13]). The function

$$a_p(x) = \left(\frac{1+x^p}{2}\right)^{\frac{1}{p}}, \ p \neq 0 \quad \left(a_0(x) = x^{\frac{1}{2}}\right)$$

is operator monotone if (and only if) $-1 \le p \le 1$.

Proposition 1.2 (cf. [11, Theorem 1.1], [13], [1]). The function

$$s_p(x) = \left(\frac{p(x-1)}{x^p - 1}\right)^{\frac{1}{1-p}}, \ p \neq 0, 1 \quad \left(s_0(x)\left(=\lim_{p \to 0} s_p(x)\right) = \frac{x-1}{\log x}, \ s_1(x) = \frac{1}{e}x^{\frac{x}{x-1}}\right)$$

is operator monotone if $-2 \le p \le 2$.

Proposition 1.3 ([11, Theorem 1.3], [5], [9], [6], [2], [3]). The function

$$k_p(x) = \frac{p-1}{p} \cdot \frac{x^p - 1}{x^{p-1} - 1}, \ p \neq 0, 1 \ \left(k_0(x) = \frac{x \log x}{x - 1}, \ k_1(x) = \frac{x - 1}{\log x}\right)$$

is operator monotone if $-1 \leq p \leq 2$.

In this paper, we give some extensions of those propositions and their applications. As an application of the extension of Proposition 1.2, we give a slight extensions of Uchiyama's example in [15] related to Petz-Hasegawa theorem [14].

²⁰¹⁰ Mathematics Subject Classification. 47A63, 47A64.

Key words and phrases. operator monotone function, operator mean.

2 Preliminaries. By Kubo-Ando theory [12], an operator mean σ is defined as a binary relation of positive operators, satisfying the following properties in common:

(monotonicity)	$A \le C, B \le D \Longrightarrow A\sigma B \le C\sigma D,$
(transformer inequality)	$C(A\sigma B)C \le (CAC)\sigma(CBC),$
(normality)	$A\sigma A = A,$
(strong operator semi-continuity)	$A_n \downarrow A, B_n \downarrow B \Longrightarrow A_n \sigma B_n \downarrow A \sigma B.$

Sometimes for the definition of an operator mean we must assume operators to be invertible. Without any assumption for invertibility every mean is well-defined as the (strong operator) limits of $(A + \varepsilon I)\sigma(B + \varepsilon I)$ as $\varepsilon \downarrow 0$ instead of $A\sigma B$. (*I* is the identity operator.)

Every operator mean σ corresponds a unique operator monotone function, that is, its representing function f_{σ} which is defined by $f_{\sigma}(x) = 1\sigma x$. Conversely, if f is an operator monotone function with f(1) = 1, then the definition of the operator mean corresponding to f is given by

$$A\sigma B = A^{\frac{1}{2}} f\left(A^{-\frac{1}{2}} B A^{-\frac{1}{2}}\right) A^{\frac{1}{2}}$$

for positive invertible operators A and B.

For our discussion, we use the following basic facts:

(I) For an operator mean σ and for two operator monotone functions g and h, if we define $g\sigma h$ by

$$(g\sigma h)(x) = g(x)f_{\sigma}\left(\frac{h(x)}{g(x)}\right),$$

then $g\sigma h$ is operator monotone.

(II) For a strictly positive function f on $(0, \infty)$, define $f^{\circ}(x) := xf(1/x)$ (transpose), $f^{*}(x) := 1/f(1/x)$ (adjoint) and $f^{\perp}(x) := x/f(x)$ (dual), then the four functions $f, f^{\circ}, f^{*}, f^{\perp}$ are equivalent to one another with respect to operator monotonicity ([12], [10]).

(III) For a continuous path f_t $(0 \le t \le 1)$ of operator monotone functions, its integral mean \tilde{f} defined by

$$\tilde{f}(x) = \int_0^1 f_t(x) dt$$

is an operator monotone function ([2], [3]).

3 Main results. Applying (I) to the operator mean σ_{a_p} corresponding to the operator monotone function $a_p(x)$ (*notice* $a_p(1) = 1$), as an extension of Proposition 1.1, we showed in [11]:

Lemma 3.1 (cf. [11, Lemma 3.1], [13]). Let f, g be operator monotone functions, then $f\sigma_{a_p}g = \left(\frac{f^p+g^p}{2}\right)^{\frac{1}{p}}$ (or equivalently, $(f^p+g^p)^{\frac{1}{p}}$) is operator monotone for $-1 \leq p \leq 1, p \neq 0$. Further, if $f_1, ..., f_n$ are operator monotone functions, then $(\sum_{i=1}^n f_i^p)^{\frac{1}{p}}$ is operator monotone. In particular, $(\sum_{i=1}^n (\alpha_i + \beta_i x)^p)^{\frac{1}{p}}$ ($\alpha_i, \beta_i \geq 0$) is operator monotone.

Similarly as σ_{a_p} , let σ_{s_p} and σ_{k_p} be the operator means corresponding to the operator monotone functions s_p and k_p , respectively. Then we obtain the following result:

Theorem 3.2 (cf. [11, Theorem 1.1], [13], [1]). For operator monotone functions f, g ($f \neq g$), the function

$$f\sigma_{s_p}g = \left(\frac{p(f-g)}{f^p - g^p}\right)^{\frac{1}{1-p}}, \quad p \neq 0, 1 \quad \left(f\sigma_{s_0}g = \frac{f-g}{\log f - \log g}, f\sigma_{s_1}g = \frac{f}{e} \cdot \left(\frac{g}{f}\right)^{\frac{f}{g-f}}\right)$$

is operator monotone if $-2 \le p \le 2$.

Proof. By Proposition 1.2 (for $p \neq 0, 1$,) we have

$$f\sigma_{s_p}g = f \cdot \left(1\sigma_{s_p}\frac{g}{f}\right) = f \cdot \left(\frac{p(\frac{g}{f}-1)}{(\frac{g}{f})^p - 1}\right)^{\frac{1}{1-p}} = \left(\frac{p(f-g)}{f^p - g^p}\right)^{\frac{1}{1-p}}.$$

Similarly, we can show:

Theorem 3.3 (cf. [11, Theorem 1.3], [5], [9], [6], [2], [3]). For operator monotone functions $f, g \ (f \neq g)$, the function

$$f\sigma_{k_p}g = \frac{p-1}{p} \cdot \frac{f^p - g^p}{f^{p-1} - g^{p-1}}, \quad p \neq 0, 1, \ \left(f\sigma_{k_0}g = \frac{f(\log f - \log g)}{f - g}, \ f\sigma_{k_1}g = \frac{f - g}{\log f - \log g}\right)$$

is operator monotone if $-1 \le p \le 2$.

In [11], the following fact was shown, as an extension of Proposition 1.3:

Lemma 3.4 (cf. [11, Theorem 3.2]). For $-1 \le p \le 1$, $0 \le s \le 1$, the function

$$u_{p,s}(x) = \frac{p}{p+s} \cdot \frac{x^{p+s} - 1}{x^p - 1}, \ p \neq 0, -s \ \left(u_{0,s}(x) = \frac{x^s - 1}{\log x^s}, \ u_{-s,s}(x) = \frac{\log x^{-s}}{x^{-s} - 1}\right)$$

is operator monotone.

For the operator mean corresponding to the function $u_{p,s}$, we can obtain the following theorem which is an extension of Theorem 3.3 (and also Lemma 3.4):

Theorem 3.5. For operator monotone functions f, g $(f \neq g)$, and for $-1 \leq p \leq 1, 0 \leq s \leq 1$, the function

$$\begin{array}{l} (*) \quad f\sigma_{u_{p,s}}g = \frac{p}{p+s} \cdot \frac{f^{p+s} - g^{p+s}}{f^p - g^p}, \ p \neq 0, -s \\ \\ \left(f\sigma_{u_{0,s}}g = \frac{f^s - g^s}{\log f^s - \log g^s}, \ f\sigma_{u_{-s,s}}g = \frac{f^{-s} - g^{-s}}{\log f^{-s} - \log g^{-s}} \right) \quad is \ operator \ monotone. \end{array}$$

Example (cf. [15, Example 2.4]). For $-1 \le p \le 1$, $0 \le q - p \le 1$, $p \ne 0$, $q \ne 0$ (and for $a \ge 0$),

$$\frac{p}{q} \cdot \frac{x^q - a^q}{x^p - a^p}$$
 is operator monotone.

We can obtain this fact, by putting f = x, g = a, and q = p + s in (*).

As an application of Proposition 1.2, we showed an alternative proof of the following result due to Petz and Hasegawa [14], [6]:

Proposition 3.6 (cf. [11, Theorem 3.4]). For $-1 \le p \le 2$

$$h_p(x) = \frac{p(1-p)(x-1)^2}{(x^p-1)(x^{1-p}-1)}, \ p \neq 0, 1 \ \left(h_0(x) = h_1(x) = \frac{x-1}{\log x}\right)$$

is operator monotone.

As an extension of this fact and an application of Theorem 3.2, though the range of p is reduced, we have:

Theorem 3.7. If f, g, k, l $(f \neq g, k \neq l)$ are operator monotone functions, then for 0 ,

$$\frac{(f-g)(k-l)}{(f^p-g^p)(k^{1-p}-l^{1-p})}$$
 is operator monotone.

Proof. Since $f\sigma_{s_p}g$ and $k\sigma_{s_{1-p}}l$ are operator monotone, we see $\frac{1}{p(1-p)} \cdot (f\sigma_{s_p}g)\sharp_p(k\sigma_{s_{1-p}}l) = \frac{(f-g)(k-l)}{(f^p-g^p)(k^{1-p}-l^{1-p})}$ is operator monotone.

Example (cf. [15, Theorem 2.7]). Putting f = k = x and g = a, l = b $(a, b \ge 0)$, we see that $\frac{(x-a)(x-b)}{(x^p-a^p)(x^{1-p}-b^{1-p})}$ is operator monotone.

Further, we have:

Theorem 3.8. For $-1 \le p \le 2$, $a, b \ge 0$

$$(**) h_p(a,b;x) = \frac{p(1-p)(x-a)(x-b)}{(x^p - a^p)(x^{1-p} - b^{1-p})} is operator monotone.$$

Proof. We may prove the theorem for $p \neq 0, \pm 1, 2$ and a, b > 0. For the case 0 , then (**) is clear. There remain the two cases:

(i) If 1 , then we put <math>p = q + 1, so that 0 < q < 1. We have:

$$h_p(a,b;x) = h_{q+1}(a,b;x) = (-q)(q+1) \cdot \frac{(x-a)(x-b)}{(x^{q+1}-a^{q+1})(x^{-q}-b^{-q})}$$
$$= \frac{q(q+1)b^q x^q (x-a)(x-b)}{(x^{q+1}-a^{q+1})(x^q-b^q)}.$$

Now since 0 < q < 1, we see that $\left(\frac{q(x-b)}{x^q-b^q}\right)^{\frac{1}{1-q}}$ is operator monotone by Proposition 1.2. Further, since 1 < q+1 < 2, we see that

$$(\eta(a,b;x):=) \ \left(\frac{(q+1)(x-a)}{x^{q+1}-a^{q+1}}\right)^{\frac{1}{1-(q+1)}} = \left(\frac{(q+1)(x-a)}{x^{q+1}-a^{q+1}}\right)^{-\frac{1}{q}}$$

is operator monotone by Proposition 1.2, so that its dual $(\eta^{\perp}(a,b;x) =) \ x \cdot \left(\frac{(q+1)(x-a)}{x^{q+1}-a^{q+1}}\right)^{\frac{1}{q}}$ is operator monotone. Hence

$$\left\{ \left(\frac{q(x-b)}{x^q - b^q}\right)^{\frac{1}{1-q}} \sharp_q \ x \cdot \left(\frac{(q+1)(x-a)}{x^{q+1} - a^{q+1}}\right)^{\frac{1}{q}} \right\} \times b^q = h_p(a,b;x)$$

is operator monotone.

(ii) If -1 , then putting <math>p = -q, we can similarly prove (**).

Acknowledgment. The authors would like to express their hearty thanks to the referee for valuable advice.

References

- A. BESENYEI and D. PETZ, Completely positive mappings and mean matrices, Linear Algebra Appl., 435 (2011), 984-997.
- [2] J.I. FUJII, Interpolationality for symmetric operator means, Sci. Math. Japon., 75, No.3 (2012), 267-274.
- J.I. FUJII and M. FUJII, Upper estimations on integral operator means, Sci. Math. Japon., 75, No.2 (2012), 217-222.
- [4] J.I. FUJII, M. NAKAMURA and S. -E. TAKAHASHI, Cooper's approach to chaotic operator means, Sci. Math. Japon., 63 (2006), 319-324.
- [5] J.I. FUJII and Y. SEO, On parametrized operator means dominated by power ones, Sci. Math. 1 (1998), 301-306.
- [6] T. FURUTA, Concrete examples of operator monotone functions obtained by an elementary method without appealing to Löwner integral representation, Linear Algebra Appl., 429 (2008), 972-980.
- [7] T. FURUTA, Elementary proof of Petz-Hasegawa Theorem, Lett. Math. Phys., 101 (2012), 355-359.
- [8] T. FURUTA, J. MIĆIČ HOT, J. PEČARIĆ and Y. SEO, Mond-Pečarić Method in Operator Inequalities, Element, Zagreb, 2005.
- F. HIAI and H. KOSAKI, Means for matrices and comparison of their norms, Indiana Univ. Math. J., 48 (1999), 899-936.
- [10] F. HIAI and K. YANAGI, Hilbert spaces and linear operators, Makino Syoten, (1995), (in Japanese).
- [11] S. IZUMINO and N. NAKAMURA, Elementary proofs of operator monotonicity of some functions, Sci. Math. Japon., Online, e-2013, 679-686.
- [12] F. KUBO and T. ANDO, Means of positive linear operators, Math. Ann., 246 (1980), 205-224.
- [13] Y. NAKAMURA, Classes of operator monotone functions and Stieltjes functions, In: Dym H. et al., (eds) The Gohberg Anniversary Collection, Vol. II: Topics in Analysis and Operator Theory, Operator Theory: Advances and Appl., Vol. 41 Birkhäuser, Basel, (1989), 395-404.
- [14] D. PETZ and H. HASEGAWA, On the Riemannian metric of α-entropies of density matrices, Lett. Math. Phys., 38 (1996), 221-225.
- [15] M. UCHIYAMA, Majorization and some operator functions, Linear Algebra and Appl., 432 (2010), 1867-1872.

Communicated by Jun Ichi Fujii

Saichi Izumino: University of Toyama, Gofuku, Toyama, 930-8555, Japan Email: saizumino@h5.dion.ne.jp

Noboru Nakamura: Toyama National College of Technology, Hongo-machi 13, Toyama, 939-8630, Japan Email: n-nakamu@nc-toyama.ac.jp